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28 P2 i PR & &R 18 FERE
/&)

% g 6-10 83-9.2 8.8 pss
HEE (mg) 100 <20-22.2 20.5 pss
BiEE V)42 (mg/) 10 <2 <2 s
MY E (ng/l) 2000 940 - 1600 1259 pss
WAL 48 & (me/) 10 <0.5 <0.5 =
FALEEE (mg/l) 0.1 <0.04 - 0.048 0.042 yoss
BOTEIRE A E (mg/) 100 <15-20.0 16.5 yoss
HIHE (mg/D) 20 <10 <10 s
Mm&EE (mg/) 0.5 <0.3 <0.3 yoss
Ber A E (mg/) 1 <0.6 - 0.68 0.62 yoss
FHEMEE] (mg/) 15 <7 <7 =
EEFEE (mg)) 2000 200 - 337 257 yoss
B = (mg/) 200 <10-32.5 20.9 yoss
M (0) 43 16 - 23 19.5 yiss
DR /K= EOEHER | B E DL | BEHIE DL =
EEeE

- (mg/) 2 <0.4 <0.4 =
2 (mg/l) 5 <1 <1 =
% (mg/l) 0.1 <0.1 <0.1 =
¥ (mg/D) 1 <0.3-0.3 0.3 yiss
#1  (mg/D) 2 <0.5-1.0 0.7 yiss
#5 (mg/l) 2 <1 <l yass
il (mg/l) 5 <0.2 <0.2 =
7K (mg/l) 0.05 <0.05 <0.05 s
58 (mg/l) 2 <1 <1 =
R (mg/) 2 <0.4 <0.4 =
# (mg/l) 5 <1 <1 T
# (mg/l) 2 <1 <1 =
HHE2BYEEHS (ng) 10 <7.0-74 7.2 =
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B (mg/l) 5 <1-35 1.7 v
#  (mg/) 10 <2 < yass
2 8E
Aldrin (mg/l) 0.01 <0.01 <0.01 s
BHCS (mg/l) 0.01 <0.01 <0.01 s
AL LT (mgl) 0.01 <0.01 <0.01 v
FEZELEEY
K (mg/) 0.1 <0.06 <0.06 yes
HEHEMEey :
1,1,1-= & Z FE (mg/) 0.05 <0.025 <0.025 =
ZEBEE
% &5 K 48 & (mg/) 0.003 <0.003 <0.003 s
A EE -
B BB & (pc/l) 10000 <10000 <10000 v
#%-226 (pc/l) 30 <30 <30 s
§8-90 (pe/D) 100 <100 <100 =
# FECBEEETE M 5 R 8% 8 8- 800k - 87 R -
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(B/E)
() =+o@EwsE @
ek (mg/m’) 30 0.0 - 0.7 0.2 b
— & /bH (mg/m’) 200 0.0 - 107.8 9.0 b
EA % (mg/m’) 60 0.1 - 11.9 1.6 b
#HIEE (mg/m’) 4 0.0 - 0.1 0.0 p
A
(ML= & L& H5) 400 414 - 189.9 99.0 2
(mg/m"’)
Y4 MR (mg/m) 20 0.0 - 3.4 0.2 =
— & (B % (mg/m’) 100 0.1 - 63.1 53 =
(z) HigE @
ok (mg/m’) 10 0.0 - 0.4 0.2 =
—SAERT (mg/m’) 50 2.6 - 183 9.0 =
EifZ (mg/m’) 10 04 - 3.0 1.6 =
#IEE (mg/m’) 1 0.00 - 0.00 0.00 =
HELY
(ML= &1L & 2t &) 200 70.6 - 118.5 98.8 2
(mg/m’)
YA (mg/m’) 10 0.02 - 0.35 0.16 p
— & B % (mg/m”) 50 1.6 - 9.6 53 p
(W) Hftr
AR AIEEY
(LR R & &S R) 24 <1.6 <1.6 =
(mg/m’)
BEBEEY
(L ba= &6 5H) 18.8 <1.2 <1.2 pss
(mg/m’)
?ig% g)u i B st 5 ) 375 24 24 2
AR AETE) (me/m’) 5.5 <0.19 <0.19 s
R RCRAEE (me/md) 5 <15 <15 =
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EaeBE—8"Y
BB G —H))n 4
AELE RN 0.05 <0.010 <0.010 2
= (mg/m’)
EEeBE_E Y
W (mg/m’) 0.06 <0.002 <0.002 yiea
%88 (5 B 4
REZEG =B 0.5 <0.064 <0.064 =
= (mg/m’)
& (mg/m’) 0.05 <0.002 <0.002 yiea
T (ng/m)) 0.075 0.011 0.011 =
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(B/E&)
F—E
8 (H [
B i [ (7K) (E'Jiﬁ B 105106 124 2
)
EEE S (%) |0 (;’Eﬁlﬁ 56-92 77.0 2
)
EEEE
#% (ppm) 0.5 <0.5 <0.5 ik
7K (ppm) 0.1 <0.02 <0.02 =
A E (ppm) 10 <0.5 <0.5 ik
#1  (ppm) <0.5-39 0.7
##  (ppm) <0.5 <0.5
#r  (ppm) <1.0-1.8 1.0
# (ppm) <0.5-0.63 0.5
ST R T I = | .
WE (ppm) 25 <25-59 2.7 E
# (ppm) 20 <1 <1 =
ALY (ppm) 10 <5 <5 pies
A FE (ppm) 10 Q.0-74 2.5 pies
=L (ppm) 5 <5 <5 pies
B
= g% 2% 1y L
HEIE R HY = 5000 <15 <15 =
= (ppm)
H 1% EA Ny _
(ppm) 10 <5-8.1 5.1 =
21b K Iy 2 = .
(ppm) 2 <2 <2 =
% &N (ppm) 1 <1 <1 yiss
TCDD (ITEF %) =
(ppb) 1 <1 <1 =




